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Miscellaneous Exercise

1. Given that Zis the mean and o

is the variance of n

observations z1x9, .., £,. Prove that the mean and variance of the

observations az1, azs, axs, ; az,are aZand a’o?,

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wBuqUox9wWsA

2. The mean and standard deviation of 20 observations are found
to be 10 and 2, respectively. One rechecking, it was found that an
observation 8 was incorrect. Calculate the correct mean and

standard deviation in each of the following cases. (i) If

o Watch Video Solution

3. The mean and standard deviation of marks obtained by 50
students of a class in there subjects, mathematics, physics and
chemistry are given below: Subject Mathematics Physics
Chemistry Mean 42 32 40.9 Standard Deviation 12 15 20 Which of
the three subjects shows the highest variability in marks and

which shows the lowest?

o Watch Video Solution



https://dl.doubtnut.com/l/_FO8BjLVEUM5K
https://dl.doubtnut.com/l/_udRYKq2RJr3y

4. The mean and standard deviation of a group of 100
observations were found to be 20 and 3, respectively. Later on it
was found that three observations were incorrect, which are
recorded as 21, 21 and 18. Find the mean and standard deviation if

the

o Watch Video Solution

5. The mean and variance of 7 observations are 8 and 16,
respectively. If five of the observations are 2, 4, 10, 12, 14. Find the

remaining two observations.

° Watch Video Solution

6. The mean and variance of eight observations are 9 and 9.25,

respectively. If six of the observations are 6, 7, 10, 12, 12 and 13,


https://dl.doubtnut.com/l/_ecs43Mzgj0kf
https://dl.doubtnut.com/l/_AJESnm3qjZmD
https://dl.doubtnut.com/l/_h286kOoj1oA4

find the remaining two observations.

° Watch Video Solution

7. The mean and standard deviation of six observations are 8 and
4, respectively. If each observation is multiplied by 3, find the new

mean and new standard deviation of the resulting observations.

° Watch Video Solution

Solved Examples

1. Calculate variance and standard deviation for the following

distribution.

Olsses | 70-75 | 75-80 | 80-85 | 85-90 | 0-% | B-100 [ 100-106 | 106-110 110-115 |
Freqecy| 3 4 7 7 15 9 6 6 3

| ° WMWiakll . \ 2 daa Ol ikl a


https://dl.doubtnut.com/l/_h286kOoj1oA4
https://dl.doubtnut.com/l/_STX7PInb5iR6
https://dl.doubtnut.com/l/_asPhBGdgPJeT
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2. Two plants A and B of a factory show following results about

the number of workers and the wages paid to

them.

A B
No. of workers 5000 6000
Average monthly wages Rs 2500 Rs 2500
Variance of distribution 81 100

of wages.In which plant, A or B is there greater variability in

individual wages?

o Watch Video Solution

3. Calculate the mean, variance and standard deviation for the
following distribution:

Class 30-40 40-50 50-60 60-70 70-80 80-90 90-


https://dl.doubtnut.com/l/_asPhBGdgPJeT
https://dl.doubtnut.com/l/_2j9g9fFUcz4g
https://dl.doubtnut.com/l/_9EMbEEr16sWH

100
Frequency 3 7 12 15 8 3

2

° Watch Video Solution

4. Find the standard deviation for the following data

:5,9,8,12,6,10,6,8

° Watch Video Solution

5. The variance of 20 observations is 5. If each observation is

multiplied by 2 find the variance of the resulting observations.

A. 20

B. 30


https://dl.doubtnut.com/l/_9EMbEEr16sWH
https://dl.doubtnut.com/l/_IASWVxC0oXzG
https://dl.doubtnut.com/l/_FEbFsn4Dj4bz

C.40

D. 50

Answer: A

° Watch Video Solution

6. The mean of 5 observation is 4.4 and their variance is 8.24. If
three of the observations are 1, 2 and 6, find the other two

observations.

° Watch Video Solution

7. Coefficient of variation of two distributions are 60% and 70%
and their standard deviations are 21 and 16 respectively. What are

their arithmetic means?



https://dl.doubtnut.com/l/_FEbFsn4Dj4bz
https://dl.doubtnut.com/l/_BcMMO1gyFpvk
https://dl.doubtnut.com/l/_GbrwHe0pQ349

| o Watch Video Solution

8. The following values are calculated in respect of heights and
weights of the students of a section of class XI: Height Weight
Mean 162.6 cm 52.36 kg Variance 127.69cm2 23.1361 kg2 Can we say

that the weights show greater variation than the heights?

° Watch Video Solution

9.If each of the observation z1, 2, ; xis increased by a where a
is a negative or positive number, show that the variance remains

unchanged.

° Watch Video Solution



https://dl.doubtnut.com/l/_GbrwHe0pQ349
https://dl.doubtnut.com/l/_McRIf8TRYJHY
https://dl.doubtnut.com/l/_ylp0EbVnD4Ua

10. The mean and standard deviation of 100 observations were
calculated as 40 and 5.1 respectively by a student who took by
mistake 50 instead of 40 for one observation. What are the

correct mean sand standard deviation?

° Watch Video Solution

11. Find the variance and standard deviation of the following data

5,12,3,18,6,8,2,10

° Watch Video Solution

12 Find the Variance of the following data:

6, 8, 10, 12, 14, 16, 18, 20, 22, 24

° Watch Video Solution



https://dl.doubtnut.com/l/_zTr7YwmusSBq
https://dl.doubtnut.com/l/_xY99F5AEbNar
https://dl.doubtnut.com/l/_kmj9pAo0IUmR

13. Find the mean deviation about the median for the following

data:4,6,9,3,10,13,2

° Watch Video Solution

14. Find mean deviation about the mean for the following data :

x;25681012f;2810785

° Watch Video Solution

15. Calculate the mean deviation about median from the

following data: 340, 150, 210, 240, 300, 310, 320.

° Watch Video Solution



https://dl.doubtnut.com/l/_B9FYORmdVYKy
https://dl.doubtnut.com/l/_G83ozEFqvx6Q
https://dl.doubtnut.com/l/_Jq7HJI5jQg9D

16. Find the mean deviation about the mean for the following
data: Marks obtained , 10-20, 20-30, 30-40, 40-50, 50-60, 60-70, 70-

80 Number of students, 2, 3, 8,14, 8, 3, 2

° Watch Video Solution

17. Find the mean deviation about the mean for the following

data:6, 7, 10, 12, 13, 4, 8, 12

° Watch Video Solution

18. Find the mean deviation about the median for the following

data:3, 9, 5, 3, 12, 10, 18, 4, 7, 19, 21.

° Watch Video Solution



https://dl.doubtnut.com/l/_tHfzAuh2PmhM
https://dl.doubtnut.com/l/_FmecyoHAYXhV
https://dl.doubtnut.com/l/_XigLT9wiiSj1

1. Find the mean deviation about the mean for the data :x; 10 30

507090f; 42428168

° Watch Video Solution

2. Find the mean deviation about the median for the data in

Question
x5 ~TsTio p—
Flslel2lz2l2l6

° Watch Video Solution



https://dl.doubtnut.com/l/_NUp5MMfozhea
https://dl.doubtnut.com/l/_H8SfTeIG1mNt

3. Find the mean deviation about the median for the data is

Question: 36,72,46,42,60,45,53,46,51,49.

° Watch Video Solution

4. Find the mean deviation about the mean for the data :x; 5 10

152025f; 74635

° Watch Video Solution

5. Find the mean deviation from the mean for the following data:

38,70,48,40,42, 55,63, 46, 54,44

° Watch Video Solution



https://dl.doubtnut.com/l/_thWiLO32Zf8N
https://dl.doubtnut.com/l/_gckpcljQSdo8
https://dl.doubtnut.com/l/_hDkYshRDHOkn

6. Find the mean deviation about the median for the data is

Question: 13,17,16,14,11,13,10,16,11,18,12,17.

° Watch Video Solution

7. Find the mean deviation about the mean for the data :

4,7,8,9,10,12, 13, 17

° Watch Video Solution

8.Find the mean deviation about the median for the data : z; 15

21273035 f;35678

° Watch Video Solution



https://dl.doubtnut.com/l/_9kZGIaUenh9P
https://dl.doubtnut.com/l/_jzY4ZfgWLHpb
https://dl.doubtnut.com/l/_oYRtlPHHW77V

9. Find the mean deviation about the mean for the data : Income
0-100 100-200 200-300 300-400 400-500 500-600 600-700
700-800per dayNumber 4 8 9 10

7 5 4 3of persons

o View Text Solution

10. Find the mean deviation about median for the following data :
Marks 0-10 10-20 20-30 30-40 40-50 50-60 Number of 6 8 14 16 4 2

Girls

° Watch Video Solution

11. Find the mean deviation about the mean for the data :

Height 95-105  105-115  115-125 125-135 135-145


https://dl.doubtnut.com/l/_qvJ3HJlMehpl
https://dl.doubtnut.com/l/_ccYGQ6ggT2ma
https://dl.doubtnut.com/l/_2c4nYJ6tBObM

145-155in cmsNumber of 9 13 26

30 12 10Boys

° View Text Solution

12. Calculate the mean deviation about median age for the age
distribution of 100 persons given below: Age 16-20 21-25 26-30 31-

3536-40 41-45 46-50 51-55 Number 561214 26 1216 9

° Watch Video Solution

1. The following is ht record of goals scored by team A in a

football session For the team b, mean number of goals scored


https://dl.doubtnut.com/l/_2c4nYJ6tBObM
https://dl.doubtnut.com/l/_hVqwcv7IRKyk
https://dl.doubtnut.com/l/_h4mQNlHBOJFg

per match was 2 with a standard deviation 1.25 goals. Find which

team may be considered more consistent?

° Watch Video Solution

2. The sum and sum of squares corresponding to length = (in cm)

and weight y (in gm) of 50 plant products are given below :
50 50 50 n

Y @ =212,) £2=902.8,) y; =261, Y yi2 =1457.6
i=1 i=1 i=1 i=1

Which is more varying the length or weight?

° Watch Video Solution

3. From the data given below state which group is more variable
G, or G5? Marks, 10-20, 20-30, 30-40, 40-50, 50-60, 60-70, 70-80

Group G1,9,17,32, 33,40, 10,9 Group G5, 10, 20, 30, 25,43, 15,7

° Watch Video Solution



https://dl.doubtnut.com/l/_h4mQNlHBOJFg
https://dl.doubtnut.com/l/_RaALqNnzVNVJ
https://dl.doubtnut.com/l/_52q5wVPUycTm

4. From the prices of shares X and Y below, find out which is more
stable in value X 35 54 52 53 56 58 52 50 5149 .Y 108 107 105 105

106 107 104 103 104 101

o Watch Video Solution

5. An analysis of monthly wages paid to workers in two firms A
and B, belonging to the same industry, gives the following result
and no. of workers of firm A and B are 586 and 648 respectively
No. of wage earners Firm A Firm B
Mean of monthly wages Rs 5253 Rs 5253
Variance of the distribution 100 121 of
wages (i) Which firm A or B pays larger amount as monthly
wages? (ii) Which firm, A or B, show greater variability in

individual wages?



https://dl.doubtnut.com/l/_52q5wVPUycTm
https://dl.doubtnut.com/l/_fxc5bRm68zrV
https://dl.doubtnut.com/l/_Uvv5vMX2c5Hh

| ) Watch Video Solution

1. Find the mean of the following frequency distributions: Class

interval: 0-8 8-16 16-24 24-32 32-40 Frequency: 67 10 8 9

° Watch Video Solution

2.Find the mean and standard deviation using short cut method

61 62 B le el e el &

l
e L@ L @ 29]25\12{10\4\5

° Watch Video Solution



https://dl.doubtnut.com/l/_Uvv5vMX2c5Hh
https://dl.doubtnut.com/l/_xvR2Vj12FIsS
https://dl.doubtnut.com/l/_yHcC8DLv85r2

3. Find the mean deviation from the mean for the data:

6,7,10,12,13,4,8,20.

° Watch Video Solution

4. Find the mean deviation from the mean for the data:

6,7,10,12,13,4,8,20.

° Watch Video Solution

5. Find the mean and variance for each of the data in Question:

First 10 multiples of 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZuFcVXRTHGrX
https://dl.doubtnut.com/l/_1z9UtxTEGrC0
https://dl.doubtnut.com/l/_xziyhX7sAuT6

6. about to only mathematics

° Watch Video Solution

7. Find the mean and variance for each of the data

6,7, 10,12, 13, 4, 8, 12

° Watch Video Solution

8.Find the mean and standard deviation using short cut method

F[so]m 62 g e e e T e &

L;/2[1 12 DIl B N mE w6 I 5

° Watch Video Solution



https://dl.doubtnut.com/l/_cHLR2qAa8FUh
https://dl.doubtnut.com/l/_wM4jMpxNjif0
https://dl.doubtnut.com/l/_BopEP4SiobSd

9. Find the mean of the following frequency distributions: Class

interval: 0-8 8-16 16-24 24-32 32-40 Frequency: 67108 9

° Watch Video Solution

10. Given below are the diameters of circles (in mm) drawn in a

design.
Diameter 33 -36 37 —40 41 —44 45 — 48 49 — 52
Number of Circles 15 17 21 22 25

Calculate the mean diameter of the circles, variance and standard

deviation.

° Watch Video Solution



https://dl.doubtnut.com/l/_dQ443aYvka8y
https://dl.doubtnut.com/l/_IH0eSHK1M3IZ

